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QUESTION 1

An administrator enables archiving to a versioned feature class. A user to view stages of a project that have been
recorded in the geodatabase at specific data and times. What should the administrator recommend to make these
stages easier to find? 

A. Transactional versions 

B. Historical markers 

C. Editor Tracking 

D. Attachments 

Correct Answer: B 

 

QUESTION 2

In a geodatabase, there are two child version of the DEFAULT version. Edit 1 owns and edits the version called version
1, and Editor 2 owns edits the version called Version2. All version in the geodatabase are projected. Version1 needs to
incorporate the changes made in Version2. 

What workflow is recommended? 

A. Editor1 reconciles and posts Version1 changes to DEFAULT > Editor2 reconcile Version2 with DEFAULT. 

B. Editor2 reconciles and posts Version2 changes to DEFAULT > Editor1 reconcile Version1 with DEFAULT. 

C. The database administration reconnects and posts changes from Version2 with DEFAULT > Reconcile Version2 with
DEFAULT. 

D. The geodatabase administrator reconcile and posts changes from version2 with DEFAULT > Reconcile Version 1
with DEFAULT. 

Correct Answer: D 

 

QUESTION 3

The geodatabase administrator wants to review conflicts when synchronization a two replica The parent is 

the data sender. 

Which synchronization option should be used? 

A. In favor geodatabase 

B. Synchronization in both directions 

C. In favor of goedatabase 2 

D. Manually at a later time 
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Correct Answer: B 

 

QUESTION 4

An administrator creates a map service that performs quickly. When the text descriptions are added to the map, the
service draws slowly. What should the administrator implement to increase the performance of the map service? 

A. Annotation 

B. Maplex label engine 

C. Antialiasing 

D. Protection on the fly 

Correct Answer: B 

 

QUESTION 5

A company needs to use on-way replication to synchronization edits from its child geodatabase to its read-only parent
goedatabase. Only one editor will be responsible for editing the child goedatabase. 

Which option should company use for the child? 

A. Personal goedatabase 

B. File goedatabase 

C. Desktop goedatabase 

D. ArcGIS Data Store 

Correct Answer: A 

EGMA105 PDF Dumps EGMA105 Practice Test EGMA105 Braindumps

Powered by TCPDF (www.tcpdf.org)

EGMA105 PDF Dumps | EGMA105 Practice Test | EGMA105 Braindumps                                3 / 3

https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html
http://www.tcpdf.org
https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html

